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1)System Test Plan %t NPS =Zt=}0l 3
2)Test Design Specification Taskl 3
3)Test Case Specification Task2 4
4)Test Execution Task3 3
5)Test Result Report Task4 3
6)7 L El0f| Report ME Task5 1

8  Environmental needs

- Hardware & Platform, Cygwin, Vi, GCC

9  System test deliverables

10 Schedules

<Table 1 Testing Tasks & Schedule>%&t=x=

<Table 2 System Test Design Identification>
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<Table 3 Test Cases Identification>

Test Case Identifier Input Specification Output Specification

T2_NPS.STC.000.000 Network Input = Network Output =
{userD a.txt } {"Not exist User"}
userDB =

{userA,userB,userC}

T2_NPS.STC.001.000 Network Input Network Output =
={Admin Reg userA} {"Register Already!!"}
UserDB =
{userA,userB,userC}
T2_NPS.STC.001.001 Network Input Network Output =
={Admin Del userA} {"Delete User userA"}
UserDB = UserDB =
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{userA,userB,userC}

{userB,userC}

T2_NPS.STC.001.002

Network Input
={Admin Del userA}
UserDB = {userB,userC}

Network Output =
{"Not register User in DB"}

T2_NPS.STC.001.003

Network Input
={Admin Show UserList}
UserDB = {userA,userB}

Network Output
{"-UserList-,
userA,

userB"}

T2_NPS.STC.001.004

Network Input
={userA Reg userC}
UserDB =

{userA,userB,userC}

Network Output

{"auth error”}

T2_NPS.STC.001.005

Network Input
={userA Del userB}
UserDB =

{userA,userB,userC}

Network Output

{"auth error”}

T2_NPS.STC.001.006

Network Input
={userA Show UserList}
UserDB =

{userA,userB,userC}

Network Output

={"auth error”}

T2_NPS.STC.001.007

Network Input
={Admin De userA}
UserDB =

{userA,userB,userC}

Network Output =

{"Incorrect Command!!"}

T2_NPS.STC.001.008

Network Input
={Admin Reg}
UserDB =

{userA,userB,userC}

Network Output =
{"Please Input Targer ID"}

T2_NPS.STC.001.009

Network Input
={Admin Reg userD}
UserDB =

{userA,userB,userC}

Network Output =
{"Add Success!!"}

UserDB = {userA,userB,userC,userD}

T2_NPS.STC.001.010

Network Input
={Admin Del userB}
UserDB = {userA,userC}

Network Output =

{“B is not exisist!!"}

T2_NPS.STC.001.011

Network Input
={Admin A4 10}
INK = 2860

INK = 2860
PAPER = 100
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PAPER = 90

T2_NPS.STC.001.012

Network Input
={Admin ink 140}
INK = 2860
PAPER = 90

INK = 3000
PAPER = 90

T2_NPS.STC.001.013

Network Input
={Admin A4 200}
INK = 2860
PAPER = 90

Network Output

={"Exceed Full amount of charge”}

T2_NPS.STC.001.014

Network Input
={Admin ink 200}
INK = 2860
PAPER = 90

Network Output

={"Exceed Full amount of charge”}

T2_NPS.STC.001.015

Network Input
={A A4 paperAmount or
A ink inkAmount}

Network Output

={auth error}

T2_NPS.STC.002.000

Network Input

={userA a.txt}

== = {userB, atxt}
CH71<9 = {Full}

a.txt =
{INK(250),PAPER(2)}

Network Output
={ OverFlow! Waiting
Number is 5}

T2_NPS.STC.002.001

Network Input

={userA a.txt}

INK = 120
PAPER = 68
a.txt =

{INK(250),PAPER(2)}

Network Output
= { Ink is not enough...

Request Admin}

T2_NPS.STC.002.002

Network Input

={userA a.txt}

INK = 280
PAPER = 0
a.txt =

{INK(250),PAPER(2)}

Network Output
= { Paper is not enough...

Request Admin.}

T2_NPS.STC.002.003

Network Input
={userA a.txt}
INK=0
PAPER = 0

Network Output
= {Ink&Paper are not enough...Request
Admin.}
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a.txt =
{INK(250),PAPER(2)}

T2_NPS.STC.003.000

Network Input
={stop print}

a.txt =
{INK(250),PAPER(2)}

currenttime.txt = {"®1X}f UM ZO|H

="

T2_NPS.STC.003.001

Network Input for userA

={stop print}

currenttime.txt = {"®1xf CIA{=0|H

=}

T2_NPS.STC.003.002

Network Input

= {userA a.txt}

currenttime.txt

T2_NPS.STC.003.003

h71g =
{"a.txt""a.txt" "a.txt"}

=383 = {"atxt"}

CH7| € = {"a.txt" a.txt"}
Print Now = {"a.txt” }

T2_NPS.STC.003.004

Network Input
={userA a.txt }
o1 = ()

=33 = ()

CH7 | = {"a.txt"}

%3 = ()

T2_NPS.STC.003.005

Network Input
={userB b.txt }
CH7|E = {"a.txt"}

xgi=

=& = = {userA "a.txt"}

CHZ1€ = {"a.txt""b.txt" }

==HZ = {userA "a.txt"}

T2_NPS.STC.003.006

Network Input

={userB b.txt }

th71g = {}

=3H= = {userB "b.txt"}

CH71€ = {"b.txt"}

=3H= = {userB "b.txt"}

T2_NPS.STC.003.007

Network Inputl
={userB a.txt }
Network Input2
={userA a.txt }
CHo2IE = {}

EX-FES

== = {userA "a.txt"}

CH7| ¥ = { userB a.txt, userA a.txt}

=HZF = {userA "a.txt"}

T2_NPS.STC.003.008

Network Input

= {userA a.txt}

currenttime.txtO| enter2 1At ZEt

==0f /A=K ofF

;L

T2_NPS.STC.003.009

Network Input
={userB b.txt }

EH 7| % = {llall'all’lla"’bll}
Er S

ZHZ= = {userA "a.txt"}
INK =0

Network Output =
{can't print}
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PAPER = 0

T2_NPS.STC.003.010

Network Input

={userB b.txt }

CH7|E = {"a"/a"}
=H= = {userA "a.txt"}
INK =0

PAPER = 0

Network Output =
{can't print}

T2_NPS.STC.003.011

Network Input

={userB b.txt }

Ch71g =
{"a"a""a"b""a"}

E3F = {userA "a.txt"}
INK =0

PAPER = 0

Network Output =
{can't print}

T2_NPS.STC.003.012

Network Input

={userB b.txt }

472 = {a"'a")
== = {userA "a.txt"}
INK = 2200

PAPER =0

Network Output =
{can't print}

T2_NPS.STC.003.013

Network Input
={userB b.txt }

CH71E = {}
INK = 2200
PAPER = 0

Network Output =
{can't print}

T2_NPS.STC.003.014

Network Input
={userB b.txt }

21 = {}
INK = 0
PAPER = 60

Network Output =
{can't print}

T2_NPS.STC.003.015

Network Input
={userB aa.txt}
INK = 3000
PAPER = 100

Network Output =

{File not exist!}

T2_NPS.STC.004.000

Network Input or NOT
input

Always Displaying
Screen_Interface.txt = {now_paper,
now_ink,username, printpaper,

needpaper, printing, stop, nextuser,
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